Standardni sudoku

5

2

6

4

7

9

Nepravidelné

9

6

3

9

Nesousledné

2

4

5

7

Diagonalni
5.9 2|6 3 8
- 7 1 X 5
31 21 7 5 2
6 2 1% 5 7 9
9isi 7|1 4 6
R P z 9 -
AERF AN 1 4
2 6 9| 3 8 1
1 45|09 6 3
Nepravidelné a diagonalni
"8 4 27 5 9
: 3 T . z
6|5 7 9 3 1
2|63 1 rd 8
719 1]s 6 5
T 3 2 -
3|7 5 2 1 4
4 & 8|5 9 Y
9 264 8 3
Killer
6| 2] 7] 1 E 3
8||5[14]3 | 7 1
IR RYE 6 7]
3lislis| 4 1 6
A TEERE | 5 9
7(1 4] 9] 2 | 8 5 |
all1f]8]s E 2
|9 3|j2]s 4 | 8
7 9




Mrakosudoku

Nesousledny killer

2 4 2 4 3
8 3 5 4 2
2 6 9 1 8
4 1 7 5 9
5 8 1 3 7
9 2 6 8 5
3 7 4 2 6
1 9 3 7 4
7 5 8 6 3
6 4 2 9 1
3 3 3 1 6

Nesousledné mrakosudoku

5 3 3 1 3
1 4 2 9 3
5 8 6 4 7
7 3 9 2 5
3 9 5 7 2
8 1 7 3 6
2 6 4 8 1
6 2 8 5 9
9 5 3 1 4
4 7 1 6 8
2 2 4 3 2

7 3 1 6_ 4_ 9_ 5
4_ 9_ 5 1 8 2 7
6 2 8 3_ 5 7_ 4
3 8_ 6 9 2 5 1
9 5 2 4 7 1 8
1_ 7 |i 8 3_ 6 2
8 4 7 2 6 3 9
2 6 |i 5 1 8 3
5 1 3 7 9 4 6
Mrakokiller
2 5 2 1 4 3 3
1 4 | 8 9 5 7 3
9 3 6_ 2 4 1 5_
7_ 5 2 6_ 3 8—‘ 9
8 7_ 4 5 6_ 2 1
2 1 5 3 8 9 7
3 6 |i 1 7 4 8
6 8 1 7 2_ 5 4
5 2 7 4 9 3 6
4 9 | 3 8 1 6 2
5 1 3 2 2 2 4




